~7 = e ... B .
lassroom Exercises . | , N
\ 5. Draw a large scalene right triangle. Then draw the perpendicular bisectors

Complete. of its three sides and tell whether they appear to meet in a point. If so,
1. If K'is the midpoint of S7, then RK is called a(n) _?_of ARST. s K T where is this point’
- s ad FR g - 2 .‘w ~ ) o
2. If RK L ST, then hNWom:ma“;i - of DMMH. Complete cach statement.
. I K sl idpoint of §7"and RK L ST, then RK is called | : ; -
3 : is 6|‘_4:_ point o n > then 1s called a(n) ! 6. If X is on the bisector of / K, then X is equidistant
L of 8T , : of 9
4. 1f RK is both an altitude and a median of ARST] th ' ZO8 < cmd e
is both an altitude and a median o ST, then: : . ; s s
| ; S > C v oo bisector of / N, then X is equidistant
| a. ARSK= ARTK by _2_ , L T w X 35 M”m 5 "
i B SRST W) ——ting. 3 e hn_ \lm. SK and SN, then X lies on the
. . . A _— ; is equidistant from SK and 5/, the
5. If R is on the perpendicular bisector of 7, then R is equidistant Exs. 1-6 8. :ﬂk is equidistan
7 frdnn 2. amdl: . Thes Loe 2, . TR en. B
, ey . . PR il o 1 z 1sec "~ gﬁmb 15
6. If K is on the angle bisector of / SRT, then K is equidistant from _?__ and 9. 1f O is on the ﬁimmza_oc{ﬁ WO ©
: ? . equidistant from _? _and _*_.
. = s the perpendicular bisector of AF, then O is
7. Given: Isosceles £ABC; AM bisects £ BAC. A H _om mamﬂwﬂﬁ :,o:w _w and 1.
What postulate, theorem, or corollary leads to the conclusion @ . distant from L and F. then O lies on the _?
T . . = s rom L ¢ ) S -
that AM is the perpendicular bisector of BC? v M IO equudistan
8. Given: Isosceles AABC;AM is the median to base BC. . . ——
Explain why: 12. Given: P is on the perpendicular bisector of AB;
a. AAMB = ANAMC P is on the perpendicular bisector of BC.
— . B M C ;
b. AM is an altitude. Prove: PA = PC
f— e Exs. 7-9
c. AM is a perpendicular bisector of BC. v
i
d. AM bisects vertex m:m_nlkw. o B 13. Prove Theorem 3-5. Use the diagram on page 138.
9. Given: Isosceles AABC; AM is the altitude to base BC.
Explain why: ool dD
A AAMB = AAMC b. AM is a median. E.\O:&:.. S is ncmc_.n:.ﬂma J,oE E and D;
10. D hink it i [ ible fi canel .: » V is equidistant from £ and D.
. Do you think 1t 1s ever possible for a triangle to have b caitas iesestar o ED
i o e: SV is endicular bisector of ED.
a. two congruent medians? b. three congruent medians? Brove: 5¥ s the peependica v
€. two congruent altitudes? d. three congruent altitudes? . .
15. a. A town wants to build a beach house on the lake Hq_.c:,ﬁ ¢quidistant from
the recreation center and the school. Copy the diagram and show the
point B where the beach house should be lo- ﬁr&&%&%(
Written Fxercicec » . _ ST
Written Exercises cated. courthouse —
; - ; < b. Tl /m also wants to build a boat-launching e
1. a. Draw alarge scalene triangle ABC. Carefully draw the bisector of / A, n:w Sés.m SO wan .., . sl nd ) ¢
the altitude fr d MU dian £ 4 These 1 Sianld. il site that is equidistant from Elm Road an -
Q.MM :ﬁc e from 4, and the median from A. ese three should all be Main Street. Find the point L where it should =
1 rent. K & |
. " “ 5 I be built. = school
b. WE& m,_ﬂ_.mn isosceles triangle .\Eﬁ with <9.;Gw angle L Pm,w&c:w V ¢. On your diagram, locate the spot F for a flag- = — °
>~,m,$m r _Mooﬁon.oﬁ, N\r%ro altitude from A4, and the median from A. . pole that is to be the same distance from the :IE‘:::. center B
re these three different’ recreation center, the school, and the court- |_ _i|| -
2. Draw a large obtuse triangle. Then draw its three altitudes in color. house.
3. Draw a right triangle. Th aw its - g w3 ! .
i ! ght tri wr e _ en draw its three altitudes in color. _ 16. Prove Theorem 3-6. Use the diagram on page 138.
- Draw a large acute scale iangle. >rpendicular bisec- : i
g %:.om mam“m ene triangle. Then draw the perpendicular bisec . (a) Theorem 3-7 and (b) Theorem 3-8, Use the diagrams on |
140 / Chapter 3 \ page 139. J

Congruent Triangles / _f
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